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1. ROFEMFEZEMZT 0 2RKDI. 72720,00<0<180° . (SH3R, A#h14y, B2, C#345)

(1) cosf = % (2)  tanf=1 (3)  sing = %
1) cosf = _§ (5)  tanf = —1 6) cosf=—1
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2. ROFKUZEMET 0 ZRDEX. 72720,00<0<180° . (SH358, Afk14r, B2, CH%3%7)

(1) cosf = @ ©) tan = v/3 (3) sinf = @
(4)  cosf = —% (5)  tanf = —% (6) cosf=0
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1. ROFEMFEZEMZT 0 2RKDI. 72720,00<0<180° . (SH3R, A#h14y, B2, C#345)

*x ZAENSAHEZRDDZ  180°% Z 2 2 EHOMBEIIR VD, T ZDEHETIFEZTVWS.
© HMF PR, D =) 2#iL.
@ sHOEDMELDAENILRZ L7, BNMELOS P 2EX 5.
sinf >0 = 0°<60<180° (R P ODyBEENE~z#io L)
{ sinf <0 = 180° <6 <360° (AP EyBEENE~ D)
cosf >0 = 0°<6<90° XX 270° < 0 < 360° (PSP DxEEMIE~yElDF)
{ cosf <0 = 90° < 6 < 270° (R P D x BENE~ y D)
Yo () NEEHOFRTAA—IVTELXIIT 5.

(1) cosf = —— (2)  tanf=1 (3) sing=L
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cosh<0 = ylh&bf tanf =1  (E#H OP,OHZ) sind >0 = kbt
cos@z% = 0Q;:P1Qi=1:1 sinﬁzé
= /P;0 = 45° . _9.
= OP;:0Q,=+v2:1 10Q, = OPp:PiQ=2:1
J:OT, J:O)ckb, = /P;0 = 30°
= /P,0Q, = 45° o — aso 10Q,
XoT, FOK&D, o XoT, FoXEY,
0 — 450 0 = 300, 1500
(4)  cosf= E] (5)  tanf = —1 (6) cosf=-—1
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o 0
30 45 p N
'Q, O | 'p O = ! 0 !
cos <0 = ylhkdi tanf = —1 (EHR OP; DIEZ) cosf <0 = yWhkdik
cos@:—ﬁ = 0Q;:P1Q;=1:1 cosf) = —1
2 = /P,0Q, — 45° = P(-1,0)
= OP1:0Q1=2:V3 koT, LORED, YoT, LORED,
= ZPlle — 300 9 — 1800 _ 450 0 — 1800
J:OT, J:@J: D, = 0:1350
0 = 180° — 30°
= 6 = 150°
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2. ROFKUZEMET 0 ZRDEX. 72720,00<0<180° . (SH358, Afk14r, B2, CH%3%7)

(1) cosf = @ ©) tan = v/3 3 sinf = @
Yy
Y P, P, Yy P,
P,
0° 60° 60NAGO°
i 0 ol © ! o o I = I Q, 0 q | =&
cosf >0 = ylikdA tanf =3  (E# OP, D) sinf>0 = z@ikbE
= 0Q,:P =1:
cosf = ﬁ QP V3 sinf = ﬁ
2 = /P,0Q, = 60° 2
= OP;:0Q,=2:V3 koT, FORED, = OP,:P1Q1=2:V3
= lPlle = 300 0 — 600 = 4P10Q1 = 600
XoT, LoKXD, £oT, EoXKED,
0 = 30° 6 = 60°, 120°
(4)  cosh=—L (5)  tanf = ——— (6) cosf=0
2 V3
P, Y Yy Yip
Py
60° 30° ¢
| Q. O I T Q: 9) I T | o) I x
cosf <0 = yHhkbE tan@z—i(ﬁ$%OP1®{kE§) cosf=0 = yHht
cosf = _1 V3 = P(0,1)
2 = OQ12P1Q1:\/§21 Lo
= OP1 : OQl =2:1 = 4P10Q1 — 30° cl: OT7 @J: 07
= /P,0Q, = 60° EoT, FORED, 6 =90
XoT, EoX&D, 6 = 180° — 30°
0 = 180° — 60° = 0 = 150°
= 0 =120°
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